

A Multiplier Problem for Fourier-Jacobi Expansions in a Banach Space

Sheel Sindhu PANDEY

R.D. University, Jabalpur

(Communicated by T. Nagano)

Abstract. In the present paper we obtain a multiplier theorem for Fourier-Jacobi expansions in the space $\text{lip}(\gamma, p)$, $\gamma p > 1$, which extends an earlier result of Trebels [11].

1. Let X be the Banach space of all measurable functions on $[0, \pi]$ with respect to the norm

$$(1.1) \quad \|f\|_p = \left(\int_0^\pi |f(\theta)|^p d\mu(\theta) \right)^{1/p} < \infty; \quad 1 < p < \infty,$$

where

$$d\mu(\theta) = (\sin \theta/2)^{2\alpha+1} (\cos \theta/2)^{2\beta+1} d\theta, \quad \alpha, \beta > -1/2.$$

Let X^* be the Banach algebra of all bounded operators of X onto itself. We put

$$R_k(\theta) = R_k^{(\alpha, \beta)}(\cos \theta) = P_k^{(\alpha, \beta)}(\cos \theta) / P_k^{(\alpha, \beta)}(1),$$

where $P_k^{(\alpha, \beta)}(\cos \theta)$ is the k th Jacobi polynomial of order (α, β) .

We now define Projections $\{B_k\}_{k \in \mathbf{Z}}$ by

$$B_k(\theta) = \left(\int_0^\pi f(\theta) R_k(\theta) d\mu(\theta) \right) h_k R_k(\theta),$$

where

$$h_k = h_k^{(\alpha, \beta)} = \left(\int_0^\pi (R_k(\theta))^2 d\mu(\theta) \right)^{-1} = \frac{(2k + \alpha + \beta + 1)\Gamma(k + \alpha + \beta + 1)\Gamma(k + \alpha + 1)}{\Gamma(k + \beta + 1)\Gamma(k + 1)\Gamma(\alpha + 1)\Gamma(\alpha + 1)}$$

and \mathbf{Z} is the set of all non-negative integers.

It can be easily seen that the sequence $\{B_k\}_{k \in \mathbf{Z}}$ is a total and fundamental

sequence of mutually orthogonal projections in X^* .

The Fourier-Jacobi series associated with any function $f \in X$ in terms of the orthogonal projection $\{B_k\}_{k \in \mathbb{Z}}$ is given by

$$(1.2) \quad \begin{aligned} f &\sim \sum_{k=0}^{\infty} B_k f, \\ &= \sum_{k=0}^{\infty} \hat{f}(k) h_k R_k(\theta), \end{aligned}$$

where

$$\hat{f}(k) = \int_0^\pi f(\theta) R_k(\theta) d\mu(\theta).$$

We suppose that S is the set of all sequences of scalars. A sequence $\eta = \{\eta_k\}_{k=0}^\infty \in S$ is called a multiplier sequence for X with respect to $\{B_k\}_{k \in \mathbb{Z}}$ if $\forall f \in X$, \exists an element $f^\eta \in X$ such that

$$\eta_k B_k f = B_k f^\eta; \quad k=0, 1, 2, \dots.$$

From this definition it follows that

$$f^\eta \sim \sum_{k=0}^{\infty} \eta_k B_k f.$$

On account of totality of the sequence $\{B_k\}_{k \in \mathbb{Z}}$, the element f^η is uniquely determined for every $f \in X$.

We denote by $M = M(X; \{B_k\}_{k \in \mathbb{Z}})$ the set of all multipliers for X corresponding to $\{B_k\}_{k \in \mathbb{Z}}$. Trebels [11, p.10] has shown that the set M is a commutative Banach algebra with respect to vector addition, coordinatewise multiplication and the norm

$$\|\eta\|_M = \sup\{\|f^\eta\| : f \in X, \|f\| < 1\}.$$

It is known that the identity sequence $\{1\} \in M$.

Next, let T be an operator from X into itself. We say that T is a multiplier operator provided there exists a sequence $\tau \in S$ such that

$$B_k T f = \tau_k B_k f \quad \forall f \in X; \quad k=0, 1, 2, \dots.$$

Hence we see that corresponding to any multiplier operator T we have the expansion

$$T f \sim \sum_{k=0}^{\infty} \tau_k B_k f.$$

From the above discussion it is clear that with respect to each multiplier operator T there exists a multiplier sequence $\tau \in M$ and vice versa.

2. The convolution structure for the ultraspherical series was introduced by Gelfand [7] and the corresponding formula for Legendre series was obtained by Bochner [3]. Gangolli [5], on the other hand, found the convolution structure for Jacobi series for some particular values of α and β . A general convolution structure for Jacobi series was discovered by Askey and Wainger [1] in 1969.

On the lines of Askey and Wainger (loc. cit.), we define the convolution formula for any two function $f, g \in L_1$ by

$$\begin{aligned} (f * g)(\theta) &= \int_0^\pi f(\theta)(T_\phi g(\theta) d\mu(\theta)) \\ &= \int_0^\pi \int_0^\pi f(\theta)g(\psi)K(\theta, \phi, \psi) d\mu(\phi) d\mu(\psi), \end{aligned}$$

where

$$T_\phi g(\theta) = \int_0^\pi g(\psi)K(\theta, \phi, \psi) d\mu(\psi)$$

and $K(\theta, \phi, \psi)$ is a non-negative symmetric function such that

$$R_n(\theta)R_n(\phi) = \int_0^\pi R_n(\psi)K(\theta, \phi, \psi) d\mu(\psi)$$

and

$$\int_0^\pi K(\theta, \phi, \psi) d\mu(\psi) = 1.$$

We write

$$\omega(\phi, f, X) = \sup_{0 \leq \psi \leq \phi} \|T_\psi f(\theta) - f(\theta)\|_X.$$

If

$$\omega(\phi, f, X) \leq C\phi^\gamma,$$

where $0 < \gamma \leq 1$ and C is any positive constant not necessarily the same at each occurrence, then we say that f belongs to the Lipschitz class of order γ or to $\text{Lip}(\gamma, p)$. In case $C \rightarrow 0$ as $\phi \rightarrow 0$, we say that $f \in \text{lip}(\gamma, p) = X_p^\gamma$. It is known that all the functions of the class $\text{Lip}(\gamma, p)$ form a Banach space with respect to the norm (see [2], p. 43).

$$\|f\|_{\text{Lip}\gamma} = \|f\|_X + \sup_{n \in \mathbb{Z}^+} (n^\gamma \omega(n^{-1}, f, X))$$

where \mathbb{Z}^+ is the set of all positive integers.

Multiplier problems for Fourier-Jacobi expansions in Banach spaces have been

studied in detail by Connett and Schwartz [4] and Gasper and Trebels [6].

In order to prove the main results, they all have used a well known theorem of Szegö ([10], Chapter IX) on the (C, δ) summability of Jacobi series for $\delta > \alpha + 1/2$; $\alpha \geq -1/2$.

The object of the present paper is to improve the above mentioned result of Szegö and obtain a multiplier theorem for the space X_p^γ .

Precisely, we prove the following:

THEOREM. *If $0 < \delta < \alpha + 1/2 - 1/p$; $|\alpha| < 1/2$ and $\beta > \alpha$; then $bv_{\delta+1}$ is continuously embedded in $M(X_p^\gamma, \{B_k\}_{k \in \mathbb{Z}})$ for $\gamma = \alpha + 1/2 - \delta$, where*

$$bv_{\delta+1} = \left\{ \eta \in S ; \|\eta\|_{\delta+1} = \sum_{k=0}^{\infty} A_k^\delta |\Delta^{\delta+1} \eta_k| + \lim_{h \rightarrow \infty} |\eta_h| < \infty \right\},$$

$$A_k^\delta = \frac{\Gamma(k + \delta + 1)}{\Gamma(k + 1)\Gamma(\delta + 1)},$$

and

$$\Delta^\beta \eta_k = \sum A_m^{-\beta-1} \eta_{k+m}.$$

3. The proof of the theorem depends on the following lemmas:

LEMMA 1. *If $f \in X_p^\gamma$, then*

$$\sup_{0 \leq \psi \leq \phi} |T_\psi f(\theta) - f(\theta)| \leq C\phi^{\gamma-1/p},$$

where $\gamma p > 1$.

For the proof see ([8], Theorem 5(ii)).

LEMMA 2. *If $f \in X_p^\gamma$, then*

$$(3.1) \quad \|(C, \delta)_n f\| \leq C\|f\|,$$

where $(C, \delta)_n f$ is the Cesàro mean of order δ of the series (1.2).

PROOF. On account of the orthogonal property of Jacobi polynomials it can be easily seen that

$$\begin{aligned} \|(C, \delta)_n f(\theta) - f(\theta)\|_{X_p^\gamma} &= \|[T_\psi f(\theta) - f(\theta)]K_n^\delta(\psi)d\mu(\psi)\|_{X_p^\gamma} \\ &\leq \left\| \int_0^\pi [T_\psi f(\theta) - f(\theta)]K_n^\delta(\psi)d\mu(\psi) \right\|_X \\ &\quad + \sup_{n \in \mathbb{Z}} n^\gamma \sup_{0 \leq \phi \leq 1/n} \left\| T_\phi \left\{ \int_0^\pi [T_\psi f(\theta) - f(\theta)]K_n^\delta(\psi)d\mu(\psi) \right\} \right\| \end{aligned}$$

$$(3.2) \quad \left\| - \int_0^\pi [T_\psi f(\theta) - f(\theta)] K_n^\delta(\psi) d\mu(\psi) \right\|_X = I + J, \quad \text{say.}$$

We consider I first. We have

$$(3.3) \quad I = \left\| \int_0^{\lambda_n} \right\|_X + \left\| \int_{\lambda_n}^{\pi - c/n} \right\|_X + \left\| \int_{\pi - c/n}^\pi \right\|_X = I_1 + I_2 + I_3,$$

say, where

$$K_n^\delta(\psi) = (A_n^\delta)^{-1} \sum_{v=0}^n A_{n-v}^{\delta-1} \frac{\Gamma(v + \alpha + \beta + 2)}{\Gamma(\alpha + 1)\Gamma(v + \beta + 1)} P_v^{(\alpha+1, \beta)}(\cos \psi),$$

and

$$\lambda_n = n^{-(2\alpha+2)(3\alpha+5/2-\delta-1/p)^{-1}}.$$

Now using the order estimate for Jacobi polynomials in the range $0 \leq \psi \leq C/n$, we get

$$\begin{aligned} I_1 &= o(n^{2\alpha+2}) \cdot \lambda_n^{2\alpha+1} \left\| \int_0^{\lambda_n} |T_\psi f(\theta) - f(\theta)| d\psi \right\|_X \\ &= o(n^{2\alpha+2}) \cdot \lambda_n^{2\alpha+1} \left[\int_0^{\lambda_n} \psi^{\gamma-1/p} d\psi \right] \end{aligned}$$

by Lemma 1.

$$(3.4) \quad \begin{aligned} &= o(n^{2\alpha+2}) \cdot \lambda_n^{2\alpha+1} \lambda_n^{\alpha+3/2-\delta-1/p} \\ &= o(n^{2\alpha+2}) \cdot \lambda_n^{3\alpha+5/2-\delta-1/p} \\ &= o(1), \quad \text{as } n \rightarrow \infty. \end{aligned}$$

We now consider I_3 .

$$\begin{aligned} I_3 &= \left\| (A_n^\delta)^{-1} \int_{\pi - c/n}^\pi T_\psi f(\theta) - f(\theta) \left[\sum_{v=0}^n A_{n-v}^{\delta-1} O(v^{\alpha+1}) |P_v^{(\alpha+1, \beta)}(\cos \psi)| \right] \right. \\ &\quad \left. \cdot (\sin \psi/2)^{2\alpha+1} (\cos \psi/2)^{2\beta+1} \right\|_X \\ &= O(n^{\alpha+\beta+1}) \left\| \int_0^{c/n} \psi^{2\beta+1} d\psi \right\|_X \\ &= O(n^{\alpha+\beta+1}) (C/n)^{2\beta+2} \end{aligned}$$

$$(3.5) \quad \begin{aligned} &= O(n^{\alpha-\beta-1}) \\ &= o(1), \quad \text{as } n \rightarrow \infty, \end{aligned}$$

because $\beta > \alpha$ and $|\alpha| < 1/2$.

Finally we discuss I_2 . Using the asymptotic formula for Jacobi polynomials in the range $[c/n, \pi - c/n]$ (see 10, p. 196), we obtain

$$\begin{aligned} I_2 = & \left\| (A_n^\delta)^{-1} \pi^{-1/2} \int_{\lambda_n}^{\pi-c/n} [T_\psi f(\theta) - f(\theta)] \left(\sin \frac{\psi}{2}\right)^{\alpha-1/2} \cdot \cos\left(\frac{\psi}{2}\right)^{\beta+1/2} \right. \\ & \cdot \cos\left(\alpha + \frac{3}{2}\right) \frac{\pi}{2} \left[\sum_{v=0}^n A_{n-v}^{\delta-1} v^{\alpha+1/2} \cos\left(v + \frac{\alpha+\beta}{2} + 1\right) \psi \right] d\psi \\ & + (A_n^\delta)^{-1} \pi^{-1/2} \int_{\lambda_n}^{\pi-c/n} [T_\psi f(\theta) - f(\theta)] \left(\sin \frac{\psi}{2}\right)^{\alpha-1/2} \left(\cos \frac{\psi}{2}\right)^{\beta+1/2} \\ & \cdot \sin\left(\alpha + \frac{3}{2}\right) \frac{\pi}{2} \left[\sum_{v=0}^n A_{n-v}^{\delta-1} v^{\alpha+1/2} \sin\left(v + \frac{\alpha+\beta}{2} + 1\right) \psi \right] d\psi + o(1) \Big\|_{X'} \\ & = \|I_{2,1} + I_{2,2} + o(1)\|_X. \end{aligned}$$

We now consider $I_{2,2}$. It can be easily seen that (see [9], Theorem 2)

$$(3.6) \quad \begin{aligned} I_{2,2} = & \frac{\alpha + 1/2}{\Gamma(1/2 + \alpha)} (A_n^\delta)^{-1} \pi^{-1/2} \sin\left(\alpha + \frac{3}{2}\right) \frac{\pi}{2} e^{-i(\alpha+1/2)\pi/2} \\ & \cdot \int_{\lambda_n}^{\pi-c/n} [T_\psi f(\theta) - f(\theta)] \left(\sin \frac{\psi}{2}\right)^{\alpha-1/2} \left(\cos \frac{\psi}{2}\right)^{\beta+1/2} e^{i(n+(\alpha+\beta)/2+1)\psi} R(\psi) d\psi, \end{aligned}$$

where

$$\begin{aligned} R(\psi) &= o(n^{\alpha+1/2} \psi^{-\delta}), \\ R(\psi + \mu_n) - R(\psi) &= o(n^{\alpha+\beta-1/2}) \psi^{-1} \log n \end{aligned}$$

and

$$\mu_n = \frac{\pi}{n + (\alpha + \beta)/2 + 1}.$$

The integral in (3.6) may be rewritten in the form

$$\begin{aligned} & \frac{1}{2} \left[\int_{\lambda_n}^{\pi-c/n} [T_\psi(\theta) - f(\theta)] R(\psi) \left(\sin \frac{\psi}{2}\right)^{\alpha-1/2} \left(\cos \frac{\psi}{2}\right)^{\beta+1/2} e^{i(n+(\alpha+\beta)/2+1)\psi} d\psi \right. \\ & \left. - \int_{\lambda_n - \mu_n}^{\pi-c/n - \mu_n} [T_{\psi+\mu_n} f(\theta) - f(\theta)] R(\psi + \mu_n) \left(\sin \frac{\psi + \mu_n}{2}\right)^{\alpha-1/2} \right. \end{aligned}$$

$$\cdot \left(\cos \frac{\psi + \mu_n}{2}\right)^{\beta+1/2} e^{i(n+(\alpha+\beta)/2+1)\psi} d\psi$$

$$\leq J_1 + J_2 + J_3 + J_4 + J_5,$$

say, where

$$J_1 = \int_{\lambda_n - \mu_n}^{\lambda_n} \left(\sin \frac{\psi + \mu_n}{2}\right)^{\alpha-1/2} \left(\cos \frac{\psi + \mu_n}{2}\right)^{\beta+1/2} |T_{\psi + \mu_n} f(\theta) - f(\theta)| R(\psi + \mu_n) d\psi,$$

$$J_2 = \int_{\pi - c/n - \mu_n}^{\pi - c/n} \left(\sin \frac{\psi}{2}\right)^{\alpha-1/2} \left(\cos \frac{\psi}{2}\right)^{\beta+1/2} |T_{\psi} f(\theta) - f(\theta)| R(\psi) d\psi,$$

$$J_3 = \int_{\lambda_n}^{\pi - c/n - \mu_n} |T_{\psi + \mu_n} f(\theta) - T_{\psi} f(\theta)| \left(\sin \frac{\psi + \mu_n}{2}\right)^{\alpha-1/2} \left(\cos \frac{\psi + \mu_n}{2}\right)^{\beta+1/2} d\psi,$$

$$J_4 = \int_{\lambda_n}^{\pi - c/n - \mu_n} |T_{\psi} f(\theta) - f(\theta)| |R(\psi + \mu_n) - R(\psi)|$$

$$\cdot \left(\sin \frac{\psi + \mu_n}{2}\right)^{\alpha-1/2} \left(\cos \frac{\psi + \mu_n}{2}\right)^{\beta+1/2} d\psi$$

and

$$J_5 = \int_{\lambda_n}^{\pi - c/n - \mu_n} \left| \left(\sin \frac{\psi + \mu_n}{2}\right)^{\alpha-1/2} \left(\cos \frac{\psi + \mu_n}{2}\right)^{\beta+1/2} \right.$$

$$\left. - \left(\sin \frac{\psi}{2}\right)^{\alpha-1/2} \left(\cos \frac{\psi}{2}\right)^{\beta+1/2} \right| |T_{\psi} f(\theta) - f(\theta)| R(\psi) d\psi.$$

Using the hypothesis of our theorem it follows that

$$J_1, J_2 \text{ and } J_5 = o(n^\delta).$$

Now, by Hölder's inequality, we have

$$J_3 \leq \left(\int_{\lambda_n}^{\pi - c/n - \mu_n} |T_{\psi + \mu_n} f(\theta) - f(\theta)|^p d\psi \right)^{1/p}$$

$$\cdot \left(\int_{\lambda_n}^{\pi - c/n - \mu_n} [R(\psi + \mu_n)] \left(\sin \frac{\psi + \mu_n}{2}\right)^{\alpha-1/2} \left(\cos \frac{\psi + \mu_n}{2}\right)^{\beta+1/2} \right)^{1/q} d\psi,$$

where

$$1/p + 1/q = 1.$$

Thus we have

$$\begin{aligned}
J_3 &= o(\mu_n^\gamma) O(n^{\alpha+1/2}) \left(\int_{\lambda_n}^{\pi-c/n-\mu_n} (\psi^{\alpha-\delta-1/2})^q d\psi \right)^{1/q} \\
&= o(n^{\delta-\alpha-1/2}) O(n^{\alpha+1/2}) \left(\int_{\lambda_n}^{\pi-c/n-\mu_n} \psi^{q(\alpha-\delta-1/2)} d\psi \right)^{1/q} \\
&= o(n^\delta) O(\lambda_n^{\alpha-\delta-1/2+1/q}) \\
&= o(n^\delta) O(\lambda_n^{\alpha-\delta-1/2+1-1/p}) \\
&= o(n^\delta) O(\lambda_n^{\gamma-1/p}) = o(n^\delta).
\end{aligned}$$

Also, we have

$$\begin{aligned}
J_4 &= O(n^{\alpha+\delta-1/2} \log n) \int_{\lambda_n}^{\pi-c/n-\mu_n} \psi^{-1} \psi^{\gamma-1/p} \psi^{\alpha-1/2} d\psi \\
&= O(n^\delta n^{\alpha-1/2} \log n) \\
&= o(n^\delta) \text{ as } n \rightarrow \infty \text{ for } |\alpha| < 1/2.
\end{aligned}$$

Substituting the order estimates for J_1, J_2, J_3, J_4 and J_5 in (3.6), we get

$$I_{2,2} = o(1).$$

Similarly, we have

$$I_{2,1} = o(1).$$

Hence we obtain

$$(3.7) \quad I_2 = o(1) \text{ as } n \rightarrow \infty.$$

Now combining (3.1), (3.2), (3.3), (3.4) and (3.7), we see that

$$I = o(1).$$

Next we discuss J . We have

$$\begin{aligned}
J &= \sup_{n \in \mathbb{Z}^+} n^\gamma \sup_{0 \leq \psi \leq 1/n} \|T_\psi[(c, \delta)_n f(\theta) - f(\theta)] - [(c, \delta)_n f(\theta) - f(\theta)]\|_X \\
&\leq \sup_{n \in \mathbb{Z}^+} n^\gamma \sup_{0 \leq \psi \leq 1/n} \|T_\psi(c, \delta)_n f(\theta) - (c, \delta)_n f(\theta)\|_X + \sup_{n \in \mathbb{Z}^+} n^\gamma \sup_{0 < \psi < 1/n} \|T_\psi f(\theta) - f(\theta)\|_X \\
&= \sup_{n \in \mathbb{Z}^+} n^\gamma \sup_{0 \leq \psi \leq 1/n} \|(c, \delta)_n [T_\psi f(\theta) - f(\theta)]\|_X + o(1) \\
&= \sup_{n \in \mathbb{Z}^+} n^\gamma \sup_{0 \leq \psi \leq 1/n} \left\| \int_0^{1/n} K_n^\delta(\psi) [T_\psi f(\theta) - f(\theta)] d\mu(\psi) \right\|_X + o(1)
\end{aligned}$$

$$\begin{aligned}
 &= \sup_{n \in \mathbb{Z}^+} n^\gamma O(n^{2\alpha+2}) \left\| \int_0^{1/n} [T_\psi f(\theta) - f(\theta)] \psi^{2\alpha+1} d\psi \right\|_X + o(1) \\
 &= \sup_{n \in \mathbb{Z}^+} n^\gamma O(n^{2\alpha+2}) \left(\frac{1}{n} \right)^{2\alpha+1} \int_0^{1/n} \|T_\psi f(\theta) - f(\theta)\|_X d\psi + o(1) \\
 &= \sup_{n \in \mathbb{Z}^+} n^\gamma O(n) \int_0^{1/n} o(\psi^\gamma) d\psi + o(1) \\
 &= O(n^{1+\gamma}) o(n^{-\gamma-1}) \\
 &= o(1).
 \end{aligned}$$

This completes the proof of the lemma.

4. Proof of the theorem. Proceeding on the lines of Trebels [11, p.20], we have

$$f^n = \sum_{k=0}^{\infty} A_k^\delta \Delta^{\delta+1} \eta_k(c, \delta)_k f + \eta_\infty f.$$

Using the above lemma, we obtain

$$\begin{aligned}
 (4.1) \quad &\|f^n\|_{X_p^\gamma} \leq c_1 \|f\|_{X_p^\gamma} \sum_{k=0}^{\infty} A_k^\delta |\Delta^{\delta+1} \eta_k| + |\eta_\infty| \|f\|_{X_p^\gamma} \\
 &\leq c \|\eta\|_{bv_{\delta+1}} \|f\|_{X_p^\gamma}.
 \end{aligned}$$

Trebels has also shown that ([11], p.22)

$$B_n(c, \delta)_k f = \begin{cases} 0, & k < n \\ (A_{k-n}^\delta / A_k^\delta) B_n f, & k \geq n. \end{cases}$$

Thus we have

$$\begin{aligned}
 (4.2) \quad &B_n f^n = B_n f \sum_{k=n}^{\infty} A_k^\delta (A_{k-n}^\delta / A_k^\delta) \Delta^{\delta+1} \eta_k + \eta_\infty B_n f \\
 &= B_n f \left\{ \sum_{k=0}^{\infty} A_k^\delta \Delta^{\delta+1} \eta_{k+n} + \eta_\infty \right\} \\
 &= \eta_n B_n f.
 \end{aligned}$$

Hence, on account of (4.2), we obtain

$$(4.3) \quad f^n \sim \sum_{n=0}^{\infty} \eta_n B_n f.$$

Combining (4.1) and (4.3) the proof of the theorem is complete.

References

- [1] R. ASKEY and S. WAINGER, A convolution structure for Jacobi series, *American J. Math.*, **91** (1969), 463–485.
- [2] H. BAVINCK, *Jacobi Series and Approximation*, Math. Center Tracts, **39** (1972), Math. Centrum, Amsterdam.
- [3] S. BOCHNER, Positive zonal functions on spheres, *Proc. Nat. Acad. Sci. U.S.A.*, **40** (1954), 1141–1147.
- [4] W. C. CONNETT and A. L. SCHWARTZ, A multiplier theorem for Jacobi expansions, *Studia Math.*, **52** (1975), 243–261.
- [5] R. GANGOLLI, Positive definite kernels on homogeneous spaces and certain stochastic processes related to Levy's Brownian motion of several parameters, *Ann. Inst. H. Poincaré Sect. B*, **3** (1967), 121–226.
- [6] G. GASPER and W. TREBELS, Multipliers criteria of Marcinkiewicz type for Jacobi expansions, *Trans. Amer. Math. Soc.*, **231** (1977), 117–132.
- [7] I. M. GELFAND, Special functions in symmetric Riemannian spaces, *Dokl. Acad. Nauk SSSR (N.S.)*, **70** (1950), 5–8.
- [8] G. H. HARDY and J. E. LITTLEWOOD, A convergence criterion for Fourier series, *Math. Z.*, **28** (1928), 612–634.
- [9] G. S. PANDEY, On the Cesàro summability of Jacobi series, *Indian J. Math.*, **10** (1968), 121–155.
- [10] G. Szegő, *Orthogonal Polynomials*, Amer. Math. Soc. Colloq. Publ., 1959.
- [11] W. TREBELS, *Multipliers for (C, α) -bounded Fourier Expansions in Banach Spaces and Approximation Theory*, Springer-Verlag, 1973.

Present Address:

DEPARTMENT OF MATHEMATICS, R. D. UNIVERSITY
JABALPUR, INDIA